HW 4.1 (d) Key

1. Bill buys a 22-year 1000 par value 7% bond with semiannual coupons. The price assume a nominal yield
of 7%, compounded semiannually. As Bill receives each coupon payment, he immediately puts the
money into an account earning interest at an annual effective rate of i. - At the end of 22 years,
immediately after Bill receives the final coupon payment and the redemption value of the bond, Bill has
earned an annual effective yield of 5.95% on his investment in the bond. Calculate i. [7.a-b#02]
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2. A 1000 par value 30-year bond with annual coupons and redeemable at maturity at 1080 is purchased for
P to yield an annual effective rate of 8%. The first coupon is 70. Each subsequent coupon is 2% greater
than the preceding coupon. Determine P. [7.a-b #03]
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3. Tinabuys a 1000 par value 14-year bond with 7.5% annual coupons at a price to yield an annual effective
rate of 7.5%. The coupons were reinvested at an annual effective rate of 5%. Immediately after
receiving payment number 8, Tina sells the bond to Joe for a price of P. P assumes an annual effective
yield of i to the buyer. Tina's annual effective yield from the date of purchase until the date of sale was

5%. Calculate i. [7.a-b#06]
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4. John purchases a 1000 par value 18-year bond with coupons at 5% convertible semiannually which will
be redeemed for R. The purchase price is 800 and the present value of the redemption value is 292.74.
Calculate R. [7.a-b#07]
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5. Two 1000 par value bonds are purchased. The 2n-year bond costs 120 more than the n-year bond. Each
has 12% annual coupons and each is purchased to yield 8% annual effective. Calculate the price of the
n-year bond. [7.a-b#08]
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